iy
I
iy
Tl
P
i

1. ¥%4
kG4 TN )V R HEE A B 1A AL B 5% i B BT e B 265
JBAT AT SR R AL 41T B 2507 (JEERIT) | [ERE S5 E )

2. EBNE

1) FHI4 SRS || EEF T B SR

2) AT S| H ZOREEOFRENS
4 THE11H28H

3) ExEtEi

4) EBNE

-1 - E Ly st R



PN

Tl
P

=
=

M4 | NN R HENE A FE A AL B AR (ke O BT ER B Eg REFES
H A B XORIE iRk AR At
THAH - LfE - fE5 =RV & & # S
RGBS R Akt = 15, 760, 870
THHAIE v AT LR = 15, 760, 870
HEAE T RIE AL 2R i AR S G2V 9, 666, 600 | HEE P AN QLR RN (SRR
1 =
T U A — A B R R AR R = 6,094,270 | T L A —H « EH gk LR G
1 =
B0 G2V 606, 370
Ham GREHEDS) = 606, 370
AT = 437,500 | fT&¢
1 =
Z DAth = 33,450 | MAEHIFEIC L 28
1 =]
INBH RS SRR =Y 135,420 | ZABARE S IER
1 B3
[EXiR Y =X 646, 113
[ER3 23 =X 646, 113
- G k- = 103, 113 | ficd (i E - m1niE)
1 =
R R 2 543,000 | R MR
1 =
BRI (Z OB <) =X 17,013, 353
& DAt AT = 8,813, 758
— R E B = 13, 902, 889
-1- E s I 7 R



%lljll
I

PN

R4 | NN CHE A EE A R A AL B AR (ke 5 BT RN RS ER REFES
H A EGARE
THH - TR - fih) =RV & & A AOBN RR
SRS =X 1 39, 730, 000

E Ly Est B R

]



